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�?4EE<G5E>4O <5E4=<>4 ?D54EF46?O5F E>5>= ?5D6GN G4EFL 547>6>7> >GDE4 

D<7<>< 6 6OEL5< GG55=>< 746545=<<. �=4 <7GG45F <5E4=<G5E>>5 46<65=<5 < 

674<<>45=EF6<O <4>D>E>>?<G5E><E F5?, >E=>6O64OEL =4 M>E?5D<<5=F4?L=> 

?>4F65D645==OE 74>>=4E �4?<?5O-�LNF>=4. � <5E4=<>5 66>4OFEO 

DG=44<5=F4?L=O5 ?>=OF<O, 65?<G<=O < 74>>=O, D>D<<DGNM<5 G >5GG45<OE 

7=4=<O < 4>445<<G5E><5 >><?5F5=F<< 646=O5 4?O 6E5= D<7<>< 6 F5?><.  

&5?L GG55=>= 4<EF<??<=O:  

?D54EF46<FL <5E4=<>G >4> EFD>==GN F5>D<N <5E4=<G5E>>7> 46<65=<O 

<4>D>E>>?<G5E><E F5?, ?>4F65D6445<GN 6E5= E>6>>G?=>EFLN 

M>E?5D<<5=F4?L=OE D4>F>6. 

�444G< GG55=>= 4<EF<??<=O: 

  3 D>D<<D>64=<5 ?D54EF46?5=<O > <5F>44E >?<E4=<O <5E4=<G5E>>7> 

46<65=<O <4F5D<4?L=OE F5? < <E <>45?OE; 

  3 <7GG5=<5 < ?>=<<4=<5 EGM=>EF< >E=>6=OE 74>>=>6 <5E4=<><; 

  3 >E6>5=<5 <5F>4>6 M>E?5D<<5=F4?L=OE <EE?54>64=<=; 

  3 D476<F<5 G<5=<= < =46O>>6 ?> ?D<<5=5=<N ?>?GG5==OE 7=4=<= 4?O 

D5L5=<O >>=>D5F=OE F5>D5F<G5E><E < ?D4>F<G5E><E 7444G. 

�?O 4>EF<65=<O G>474==OE F5?5= =5>5E>4<<>: 

ý >5NOE=<FL EFG45=FG >E=>6=O5 ?D<=F<?O < 74>>=O D<7<><, < <E 

<4F5<4F<G5E><5 6OD465=<O; 

ý >7=4>><<FL 57> E >E=>6=O<< D<7<G5E><<< O6?5=<O<<, <5F>44<< <E 

=45?N45=<O < M>E?5D<<5=F4?L=>7> <EE?54>64=<O, 4 F4>65 E >5M5?D<=OFO<< 

<5F>44<< F>G=>7> <7<5D5=<O D<7<G5E><E 65?<G<=, E <5F>44<< 4=4?<74 

D57G?LF4F>6 M>E?5D<<5=F4, E >E=>6=O<< D<7<G5E><<< ?D<5>D4<< < 

?45>D4F>D=O<< GEF4=>6>4<<; 

ý ED>D<<D>64FL G EFG45=F4 =46O>< M>E?5D<<5=F4?L=>= D45>FO, 

>7=4>><<FL 57> E >E=>6=O<< ?D<=F<?4<< <4F5<4F<G5E>>= >5D45>F>< 

D<7<G5E>>7> M>E?5D<<5=F4, =4GG<FL ?D46<?L=> 6OD464FL D<7<G5E><5 

>>=F5?F<< < <45<; 

ý >>?<G5EF65==> D>D<G?<D>64FL < D5L4FL D<7<G5E><5 7444G<, >F5=<64FL 

?>DO4>< D<7<G5E><E 65?<G<=; 

ý 44FL EFG45=FG =4GG=>5 ?D54EF46?5=<5 > 7D4=<F4E ?D<<5=<<>EF< 

D<7<G5E><E <>45?5= < 7<?>F57; 

ý D476<FL G =57> ?N5>7=4F5?L=>EFL < <=F5D5E > <7GG5=<N D<7<><; 

ý 44FL EFG45=FG 4<4?5>F<G5E>>5 ?>=<<4=<5 646=5=L<E MF4?>6 <EF>D<< 

D476<F<O D<7<><, 55 D<?>E>DE><E < <5F>4>?>7<G5E><E ?D>5?5<. 

�5GG4NM<=EO 4>?65= 6?445FL E?54GNM<<< >><?5F5=F<O<<:  

���-3. �E?>?L7>64FL >E=>6=O5 ?>?>65=<O < 74>>=O <5E4=<>< 4?O D5L5=<O 

F<?>6OE 7444G ><=5<4F<><, EF4F<>< < 4<=4<<><, ?D<<5=OFL ?>=OF<==O= 

4??4D4F <5E4=<>< 4?O >?D545?5=<O ?D<=F<?>6 DG=>F<>=<D>64=<O 

<5E4=<G5E><E GEFD>=EF6. 

 

 



4  

� D57G?LF4F5 <7GG5=<O 4<EF<??<=O «�5E4=<>4» EFG45=F 4>?65=  

7=4FL: 

3 D<7<G5E><5 E6>=EF64 ?D>EFD4=EF64 < 6D5<5=<; 

3 >E=>6=O5 ?>=OF<O < 74>>=O <5E4=<>< <4F5D<4?L=>= F>G><, E<EF5<O 

<4F5D<4?L=OE F>G5> < 45E>?NF=> F65D4>7> F5?4; 

3 74>>=O E>ED4=5=<O; 

3 >E=>6O <5E4=<>< E??>L=>= ED54O; 

3  45D>D<4F<< < =4?DO65=<O 6 F65D4OE F5?4E; 

3 M?5<5=FO 4>GEF<>< 

3 ?D<<5=5=<5 >E=>6=OE 74>>=>6 <5E4=<>< > >?<E4=<N <5E4=<G5E>>7> 

46<65=<O G5?>65>4; 

3 >5M<5 <5F>4O <7<5D5=<= D<7<G5E><E 65?<G<=. 

G<5FL: 

3 D5L4FL 7444G< ?> ><=5<4F<>5, 4<=4<<>5, <5E4=<>5 E??>L=>= ED54O; 

3 <E?>?L7>64FL 74>>=O E>ED4=5=<O ?D< D5L5=<< 7444G; 

6?445FL: 

3 <5F>44<< M>E?5D<<5=F4?L=OE <EE?54>64=<= <5E4=<G5E><E O6?5=<= < 

?D>F5EE>6; 

3 <5F>44<< >5D45>F>< D57G?LF4F>6 M>E?5D<<5=F4?L=OE <EE?54>64=<=; 

3 <4F5<4F<G5E><<< <5F>44<< D5L5=<O 7444G ?> <5E4=<>5; 

3 <5F>44<< <7<5D5=<= D<7<G5E><E 65?<G<=. 

 

� E>>F65FEF6<< E F<?>6O< GG55=O< ??4=>< <7GG5=<5 4<EF<??<=O 

D4EEG<F4=> =4 >5M55 >>?<G5EF6> G4E>6 3 216. �G4<F>D=>5 >>?<G5EF6> G4E>6 3 

120, <7 =<E: ?5>F<< 3 40 G4E>6, ?D4>F<G5E><5 74=OF<O 3 40 G4E>6, 

?45>D4F>D=O5 74=OF<O 3 40 G4E>6.  

$>D<4 ?>?GG5=<O 6OEL57> >5D47>64=<O 3 4=56=4O.  

$>D<4 F5>GM5= 4FF5EF4F<< 3 M>74<5= 6 1 E5<5EFD5. 

&DG4>5<>>EFL 4<EF<??<=O E>EF46?O5F 6 74G5F=OE 54<=<F. 
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&5<4 1. �6545=<5  

$<7<>4. �D54<5F < 7444G< D<7<><. %>45D64=<5 < EFDG>FGD4 >GDE4 

D<7<><. �5F>4O D<7<G5E>>7> <EE?54>64=<O. �5EFD4>F<< < <>45?< 6 D<7<>5. 

�4F5D<O < 5U >E=>6=O5 E6>=EF64. �D>EFD4=EF6> < 6D5<O >4> D>D<O 

EGM5EF6>64=<O <4F5D<<.  

$<7<G5E><5 65?<G<=O. �7<5D5=<5 D<7<G5E><E 65?<G<=. $47<5D=>EFL 

D<7<G5E><E 65?<G<=. �D<=F<? ?>EFD>5=<O E<EF5<O 54<=<F. %<EF5<4 %�. 

�E=>6=O5 < ?D><76>4=O5 54<=<FO <7<5D5=<=. 
 

&5<4 2. �<=5<4F<>4 <4F5D<4?L=>= F>G><  

�E=>6=O5 ?>=OF<O <5E4=<><: E<EF5<4 >FEG5F4, D44<GE-65>F>D F>G><, 

<4F5D<4?L=4O F>G>4, 45E>?NF=> F65D4>5 F5?>, <5E4=<G5E>4O E<EF5<4.  

�<=5<4F<>4 <4F5D<4?L=>= F>G><. �5E4=<G5E>>5 46<65=<5. 

�F=>E<F5?L=>EFL 46<65=<O. �E=>6=O5 ?>=OF<O ><=5<4F<><: FD45>F>D<O <GFL 

?5D5<5M5=<5, 74>>= 46<65=<O. �E=>6=O5 7444G< ><=5<4F<><. %?>E>5O 

>?<E4=<O 46<65=<O <4F5D<4?L=>= F>G><. %>>D>EFL <4F5D<4?L=>= F>G>< 6 

65>F>D=>= < >>>D4<=4F=>= D>D<4E. 'E>>D5=<5 <4F5D<4?L=>= F>G>< 6 

65>F>D=>= < >>>D4<=4F=>= D>D<4E. 

�4G4?L=O5 GE?>6<O. �>?GG5=<5 74>>=>6 D46=><5D=>7> < 

D46=>?5D5<5==>7> ?DO<>?<=5==>7> 46<65=<O F>G><.  

%>>D>EFL <4F5D<4?L=>= F>G>< ?D< >D<6>?<=5==>< 46<65=<<. 

�4E4F5?L=>5, =>D<4?L=>5 < ?>?=>5 GE>>D5=<O <4F5D<4?L=>= F>G>< ?D< 

>D<6>?<=5==>< 46<65=<<.  
 

&5<4 3. �<=5<4F<>4 45E>?NF=> F65D4>7> F5?4  

�D>EF5=L<5 46<65=<O 45E>?NF=> F65D4>7> F5?4. �>EFG?4F5?L=>5 

46<65=<5 F65D4>7> F5?4. �D4M4F5?L=>5 46<65=<5 F65D4>7> F5?4 6>>DG7 

=5?>46<6=>= >E<. �4>>= 6D4M4F5?L=>7> 46<65=<O F65D4>7> F5?4, �5>F>DO 

G7?>6>= E>>D>EF< < G7?>6>7> GE>>D5=<O. %6O7L <564G 65>F>D4<< ?<=5==OE < 

G7?>6OE E>>D>EF5=. $>D<G?4 -=?5D4. %6O7L <564G 65>F>D4<< ?<=5==OE < 

G7?>6OE GE>>D5=<=. 

�?>E>>5 46<65=<5 45E>?NF=> F65D4>7> F5?4.  

�D4M4F5?L=>5 46<65=<5 45E>?NF=> F65D4>7> F5?4, 74>D5??U==>7> 6 

F>G>5 (ED5D<G5E>>5 46<65=<5). �>=OF<5 >5 G7?4E -=?5D4. �7=>65==4O >EL 

6D4M5=<O. %?>65=<5 G7?>6OE E>>D>EF5=.  

%6>5>4=>5 46<65=<5 45E>?NF=> F65D4>7> F5?4. %F5?5=< E6>5>4O 

<4F5D<4?L=>= F>G>< < 45E>?NF=> F65D4>7> F5?4. 
 

&5<4 4. �<=4<<>4 <4F5D<4?L=>= F>G><  

�74<<>45=EF6<5 F5?. %<?4. �><5=F E<?O >F=>E<F5?L=> F5=FD4 < >E<. 

�4D4 E<?. �><5=F ?4DO E<?. �D<=F<? =5746<E<<>EF< 45=EF6<O E<?.  
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�<4O DG=44<5=F4?L=OE 674<<>45=EF6<=. %<?O 6 <5E4=<>5: E<?4 

6E5<<D=>7> FO7>F5=<O, E<?4 FO65EF< < 65E F5?4, E<?4 G?DG7>EF<, E<?4 

�DE<<544, E<?O FD5=<O.  

�4>>= <=5DF<< �4?<?5O (?5D6O= 74>>= �LNF>=4). �=5DF<4?L=O5 

E<EF5<O >FEG5F4. �D5>5D47>64=<O �4?<?5O 4?O >>>D4<=4F < E>>D>EF5=. 

�=64D<4=FO ?D5>5D47>64=<=. �5E>?NF=>5, ?5D5=>E=>5 < >F=>E<F5?L=>5 

46<65=<5. �4>>= E?>65=<O E>>D>EF5= �4?<?5O. �=64D<4=F=>EFL GE>>D5=<O. 

�D<=F<? >F=>E<F5?L=>EF< �4?<?5O. �D4=<FO ?D<<5=<<>EF< >?4EE<G5E>>= 

<5E4=<><.  

�4EE4 < 55 <7<5D5=<5. �E=>6=>= 74>>= 4<=4<<>< F>G>< (6F>D>= 74>>= 

�LNF>=4), 7D4=<FO 57> ?D<<5=<<>EF<. �<?G?LE. �5M4O D>D<G?<D>6>4 

6F>D>7> 74>>=4 �LNF>=4. �E=>6=>5 GD46=5=<5 4<=4<<>< <4F5D<4?L=>= F>G><. 

�E=>6=O5 7444G< 4<=4<<>< F>G>< <4F5D<4?L=>= < <5F>4O <E D5L5=<=. 

�4>>= 45=EF6<O < ?D>F<6>45=EF6<O (FD5F<= 74>>= �LNF>=4), 7D4=<FO 57> 

?D<<5=<<>EF<. 
 

&5<4 5. �<=4<<>4 <5E4=<G5E>>= E<EF5<O 

%<EF5<4 <4F5D<4?L=OE F>G5>. �4EE4 <5E4=<G5E>>= E<EF5<O. &5=FD <4EE 

< F5=FD FO65EF< <5E4=<G5E>>= E<EF5<O. �=GFD5==<5 < 6=5L=<5 E<?O 

<5E4=<G5E>>= E<EF5<O. �4<>=GFO5 <5E4=<G5E><5 E<EF5<O.  

�E=>6=>5 GD46=5=<5 4<=4<<>< <5E4=<G5E>>= E<EF5<O.  

&5>D5<4 > 46<65=<< F5=FD4 <4EE <5E4=<G5E>>= E<EF5<O. �4>>= 

E>ED4=5=<O 46<65=<O F5=FD4 <4EE <5E4=<G5E>>= E<EF5<O. 
 

&5<4 6. �<=4<<>4 45E>?NF=> F65D4>7> F5?4 

&65D4>5 F5?> >4> E<EF5<4 <4F5D<4?L=OE F>G5>. &5=FD <4EE F65D4>7> 

F5?4. �5F>4O 6OG<E?5=<5 ?>?>65=<O F5=FD4 <4EE =5>>F>DOE F5?.  

�>EFG?4F5?L=>5 46<65=<5 45E>?NF=> F65D4>7> F5?4. 'D46=5=<5 

4<=4<<>< ?>EFG?4F5?L=>7> 46<65=<O 45E>?NF=> F65D4>7> F5?4.  

'E?>6<O D46=>65E<O F65D4>7> F5?4. �<4O D46=>65E<O. 

�><5=F <=5DF<< 45E>?NF=> F65D4>7> F5?4. �OG<E?5=<5 <><5=F>6 

<=5DF<< F5? ?D46<?L=>= D>D<O. &5>D5<4 �N=75=E4-,F5==5D4.  

'D46=5=<5 4<=4<<>< 6D4M4F5?L=>7> 46<65=<O F5?4 >F=>E<F5?L=> 

=5?>46<6=>= >E<.  

�<D>E>>?. �D5F5EE<O 7<D>E>>?4. �D<<5=5=<5 7<D>E>>?>6. 
 

&5<4 7. $45>F4 < M=5D7<O 
$45>F4 E<?O. $4EG5F D45>FO =5>>F>DOE E<?. $45>F4 E<EF5<O E<?. 

�>M=>EFL.  
�>=E5D64F<6=O5 < =5>>=E5D64F<6=O5 E<?O. �>F5=F<4?L=4O M=5D7<O 

F>G><. �>F5=F<4?L=4O M=5D7<O E<EF5<O <4F5D<4?L=OE F>G5>. 
�<=5F<G5E>4O M=5D7<O F>G><. �<=5F<G5E>4O M=5D7<O F65D4>7> F5?4, 

6D4M4NM57>EO 6>>DG7 =5?>46<6=>= >E<. �<=5F<G5E>4O M=5D7<O E<EF5<O 
<4F5D<4?L=OE F>G5>.  

�>?=4O <5E4=<G5E>4O M=5D7<O. �4>>= E>ED4=5=<O M=5D7<< 6 <5E4=<>5. 
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&5<4 8. &5>D5<O 4<=4<<>< F>G>< < <5E4=<G5E>>= E<EF5<O 

$45>F4 6=GFD5==<E < 6=5L=<E E<? <5E4=<G5E>>= E<EF5<O. &5>D5<4 >5 

<7<5=5=<< ><=5F<G5E>>= M=5D7<< <4F5D<4?L=>= F>G>< < <5E4=<G5E>>= 

E<EF5<O. 

�<?G?LE E<?O. �<?G?LE E<EF5<O E<?. �<?G?LE (>>?<G5EF6> 46<65=<O) 

<5E4=<G5E>>= E<EF5<O. &5>D5<4 >5 <7<5=5=<< <<?G?LE4 <4F5D<4?L=>= F>G>< 

< <5E4=<G5E>>= E<EF5<O. �4>>= E>ED4=5=<O <<?G?LE4 <4F5D<4?L=>= F>G>< < 

<5E4=<G5E>>= E<EF5<O.  

�><5=F <<?G?LE4 <4F5D<4?L=>= F>G>< >F=>E<F5?L=> F5=FD4 < >E<. 

�><5=F <<?G?LE4 E<EF5<O <4F5D<4?L=OE F>G5> >F=>E<F5?L=> F5=FD4 < >E<. 

&5>D5<4 >5 <7<5=5=<< <><5=F4 <<?G?LE4 E<EF5<O <4F5D<4?L=OE F>G5> 

>F=>E<F5?L=> F5=FD4 < >E<. �4>>= E>ED4=5=<O <><5=F4 <<?G?LE4 E<EF5<O 

<4F5D<4?L=OE F>G5> >F=>E<F5?L=> F5=FD4 < >E<.  

 

&5<4 9. %F>?>=>65=<O. �<=4<<>4 F5? ?5D5<5==>= <4EEO  

�>=OF<5 EF>?>=>65=<O. '?DG7>5 < =5G?DG7>5 EF>?>=>65=<5. �5E>?NF=> 

G?DG7>5 < 45E>?NF=> =5G?DG7>5 EF>?>=>65=<O.  

$54>F<6=>5 46<65=<5. �6<65=<5 F5?4 ?5D5<5==>= <4EEO. 'D46=5=<O 

�5M5DE>>7> < &<>?>>6E>>7>. 

 

&5<4 10. �E5<<D=>5 FO7>F5=<5 
�4>>= 6E5<<D=>7> FO7>F5=<O, ?>EF>O==4O FO7>F5=<O < 55 <7<5D5=<5. 

�D46<F4F<>==>5 ?>?5. �4?DO65==>EFL < ?>F5=F<4? 7D46<F4F<>==>7> ?>?O. 
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�?OF �4=>5?LE>=4-�>D?<. �>EFG?4FO -==LF5==4. �D5>5D47>64=<O 
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GG55=>= 45OF5?L=>EF< EFG45=F>6, D476<64NM<= 4>FG4?L=O5 4?O GG55=>= < 
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